

PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/5/2025 6:21:46 PM

			General De	etails						
Parcel ID:	141-0040-00)540								
Document:	Abstract - 01	Abstract - 01254392								
Document Date:	10/15/2014	10/15/2014								
		Le	gal Description	on Details						
Plat Name:	HIBBING									
Sect	ion 1	Township	ship Range			t	Block			
3		56		21	-		-			
Description:	E1/2 OF LC OF LOT 4	OT 2 EX RY R/W	AND EX WLY 38	0 FT LYING S OI	F COUNTY RD A	ND EX E 68 FT OF	W 448 FT & AL			
			Taxpayer D	etails						
axpayer Name	KENJALO N	ATHAN A & KRI	STEN							
nd Address:	12396 TOW	NLINE ROAD								
	HIBBING MI	N 55746								
			Owner De	tails						
Owner Name	KENJALO K									
Owner Name	KENJALO N			· C						
			able 2025 Tax	k Summary						
	2025 - N				\$4,236.00)				
	2025 - S	pecial Assessme	al Assessments \$0.00							
	2025 -	Total Tax &	Special Asse	ssments	\$4,236.00)				
		Currer	nt Tax Due (a	s of 5/4/2025)					
	Due May 15		Due Noven	nber 15		Total Due				
2025 - 1st Half	Tax \$2,118.0	2025 - 2	2025 - 2nd Half Tax \$2,118		8.00 2025 -	2025 - 1st Half Tax Due \$				
2025 - 1st Half	Tax Paid \$0.0	2025 - 2	2025 - 2nd Half Tax Paid \$0.00		0.00 2025 - 2	2nd Half Tax Due	\$2,118.00			
2025 - 1st Half	f Due \$2,118.0	2025 - 2	2025 - 2nd Half Due \$2,118.00			Total Due	\$4,236.00			
	· ·		Parcel De							
Property Addres	ss: 12396 TOW	N LINE RD, HIBE								
School District:	701									
Tax Increment D	District: -									
Property/Homes	steader: KENJALO, N	NATHAN & KRIS	TEN							
		Assessme	nt Details (20	25 Payable 2	2026)					
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
101	1 - Owner Homestead (100.00% total)	\$52,200	\$264,500	\$316,700	\$0	\$0	-			
	1 - Owner Homestead	\$18,400	\$0	\$18,400	\$0	\$0	-			
121	(100.00% total)	1	\$264,500	\$335,100	\$0	\$0	2813			



PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/5/2025 6:21:46 PM

Land Details									
Deed	ded Acres:	52.02							
Wate	erfront:	-							
Wate	er Front Feet:	0.00							
Wate	er Code & Desc:	W - DRILLED WELL							
Gas	Code & Desc:	-							
Sew	er Code & Desc:	S - ON-SITE SANITA	ARY SYSTEM	1					
Lot \	Width:	0.00							
Lot I	Depth:	0.00							
The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.									
			Improvem	nent 1 D	etails (HOUSE)			
l	mprovement Type	Year Built	Main Floo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	HOUSE	1940	1,650		1,650	AVG Quality / 840 Ft ²	RAM - RAMBL/RNCH		
[Segment	Story	Width	Length	Area	Foundatio	on		
	BAS	1	0	0	810	BASEMEN			
	BAS	1	0	0	840	BASEMEN			
	OP	0	6 6	13	78	POST ON GR			
	SP	1	11	15	165	FOUNDATI			
l	Bath Count					HVAC			
				4 ROOM		Fireplace Count	-		
	2.5 BATHS	4 BEDROOMS			-		AIR_COND, PROPANE		
		lı İr	mproveme	ent 2 Det	tails (22X22 D	G)			
l II	mprovement Type	Year Built	Main Floo	r Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	GARAGE 1974 506		506	-	DETACHED				
	Segment	Segment Story Width Length Area				Foundation			
	BAS	1	22	23	506	FLOATING S	SLAB		
		h	mnroveme	ent 3 Det	tails (18X38 D	3)			
-	mprovement Type	Year Built	Main Floo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	GARAGE	1974	540		540	Dasement i mish	DETACHED		
ſ		-	Width	Longth	Area	Foundatio			
				. . .		FLOATING SLAB			
l	BAS 1 18 30 540 FLOATING SLAB								
		Ir	nproveme	nt 4 Det	ails (STORAG	E)			
l li	mprovement Type	Year Built	Main Floo	r Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	HOUSE	1930	600		900	U Quality / 0 Ft ²	1S+ - 1+ STORY		
	Segment	Story	Width	Length	Area	Foundatio	on		
	BAS 1.5		20	30	600	BASEMEN	IT I		
	CN	1	5	7	35	PIERS AND FO	OTINGS		
	Bath Count	Bedroom Count		Room C	ount	Fireplace Count	HVAC		
	0.0 BATHS	-		-		-	,		
		Im	provemer	t 5 Deta	ils (12X16 SHI	ED)			
1	mprovement Type	Year Built	Main Floo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
	TORAGE BUILDING	1955	192		192	-	-		
	Segment	Story	Width	Length	Area	Foundatio	n		
	BAS	1	12	16	192	POST ON GR			
	DAG	I	14	10	192	FUST ON GRU			



PROPERTY DETAILS REPORT





Date of Report: 5/5/2025 6:21:46 PM

		Improveme	ent 6 Deta	ails (12X10 SHE	D)			
Improvement Type Year Built		Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	1942	120		120	-	-		
Segment	Story	Width Lengt		Area	Foundat	ion		
BAS	1	10 12		120	POST ON GROUND			
Improvement 7 Details (OLD GARAGE)								
Improvement Type Year Built Main Floor Ft ² Gross Area Ft ² Basement Finish Style Code & Des								
STORAGE BUILDING	1932	525		525	-	-		
Segment Story		Width Length		Area	Foundation			
BAS	1	21	25	525	POST ON GF	ROUND		
		Improven	nent 8 De	tails (TIN SHED))			
Improvement Type	Year Built	•		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	25	5	25	-	-		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	1	5	5	25	POST ON GF	ROUND		
		Improveme	ent 9 Deta	ails (12X16 SHE	D)			
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING 0		192		192	-	-		
Segment	Story	Width Lengt		Area	Foundat	Foundation		
BAS	BAS 1		12 16 192		POST ON GROUND			
		Improveme	nt 10 Det	ails (14X18 SHE	D)			
Improvement Type	Year Built	Main Flo	oor Ft 2	Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	25	2	252	-	- -		
Segment	Story	Width	Length	Area	Foundat	ion		
BAS	BAS 1		18	252	POST ON GF	ROUND		
		Improveme	nt 11 Det	ails (12X24 SHE	D)			
Improvement Type Year Built		Main Floor Ft ²		Gross Area Ft ²	Basement Finish	Style Code & Desc.		
STORAGE BUILDING	0	288		288	-	-		
Segment Story		Width Length		Area	Foundat	ion		
BAS	1	12 24 288		POST ON GROUND				
Sales Reported to the St. Louis County Auditor								
Sale Date)		Purchase	e Price	CRV	Number		
10/2014			\$125,0	000	20	09349		



St. Louis County, Minnesota



		A	ssessment Histo	ory		
Year	Class Code (<mark>Legend</mark>)	Land EMV	Bldg EMV	Total EMV	Land B	Def Idg Net Tax MV Capacity
	101	\$56,600	\$281,100	\$337,700	\$0	\$0 -
2024 Payable 2025	121	\$20,500	\$0	\$20,500	\$0	\$0 -
-	Total	\$77,100	\$281,100	\$358,200	\$0	\$0 3,031.00
	101	\$59,700	\$260,500	\$320,200	\$0	\$0 -
2023 Payable 2024	121	\$21,900	\$0	\$21,900	\$0	\$0 -
	Total	\$81,600	\$260,500	\$342,100	\$0	\$0 2,926.00
	101	\$48,800	\$185,500	\$234,300	\$0	\$0 -
2022 Payable 2023	121	\$16,800	\$0	\$16,800	\$0	\$0 -
	Total	\$65,600	\$185,500	\$251,100	\$0	\$0 2,037.00
	101	\$44,100	\$157,400	\$201,500	\$0	\$0 -
2021 Payable 2022	121	\$14,600	\$0	\$14,600	\$0	\$0 -
-	Total	\$58,700	\$157,400	\$216,100	\$0	\$0 1,699.00
•			Tax Detail Histor	У		
Tax Year	Tau	Special	Total Tax & Special		Taxable Building	
		Assessments	Assessments	Taxable Land MV	MV	Total Taxable MV
2024	\$3,960.00	\$0.00	\$3,960.00	\$80,825	\$248,245	\$329,070
2023	\$3,164.00	\$0.00	\$3,164.00	\$64,063	\$167,392	\$231,455
2022	\$2,694.00	\$0.00	\$2,694.00	\$56,723	\$137,248	\$193,971

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.